Section : General Awareness

Q.1 Who is the author of the book The Buddha and His Dhamma?
Ans X" 1. Sarojini Naidu

75 2. Rajmohan Gandhi

o 3.B R Ambedkar

x 4. Jawaharlal Nehru

Q.2 In which medical condition is the eye's optic nerve damaged and the condition
worsens over time?

Ans ( 1. Glaucoma
x 2. Cataract
/< 3.DryEye

75 4. Age-related Macular Degeneration (AMD)

Q.3 Who among the following is/was the longest serving governor of an Indian state?
Ans X" 1. Sarojini Naidu

J 2. Padmaja Naidu
75 3.N D Tiwari

75 4. Lakshmi Kant Jha

Q.4 Which of the following is the highest peak in Sri Lanka?




Ans x 1. Kirigalpotta
/< 2. Bible Rock

X 3. Hakgala
« 4. Mount Pedro

Q.5 Identify the part of brain that controls the maintenance of posture, balance and
equilibrium.

Ans x 1. Diencephalon
“ 2. Cerebellum
X 3. Cerebrum
x 4. Brainstem

Q.6 Which of the following is the national sport of Bangladesh?
Ans x 1. Boxing

o 2. Kabaddi

x 3. Cricket

75 4. Kho Kho

Q.7 Which theory is used to make long-run predictions about exchange rates in a flexible
exchange rate system?

Ans X" 1 Portfolio Balance Approach
( 2. Purchasing Power Parity Theory
x 3. Interest Rate Approach

x 4. Balance of Payment Theory

Q.8 As of April 2019 who is longest serving chief minister of an Indian state?
Ans « 1. Pawan Chamling

x 2. Jyoti Basu
#% 3. Sheila Dixit

/X 4. Jayalalitha



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Q.9 Who was the first Russian prime minister to visit independent India?
Ans  of 1. Nikolai Bulganin

75 2. Mikhail Gorbachev
x 3. Boris Yeltsin

/X 4. Viadimir Putin

Q.10 In December 2018, Havelock Island was renamed as
Ans x 1. Veer Savarkar Island

x 2. Netaji Subhash Bose Island
( 3. Swaraj Dweep

x 4. Swaheed Dweep

Q.11 Which state of India was ruled by the Ahom Dynasty?
Ans x 1. Rajasthan

( 2. Assam
75 3.0disha

x 4. Karnataka

Q.12 Byopa is a traditional headgear of tribes belonging to
Ans o 1. Arunachal Pradesh

x 2. Goa

75 3. Jharkhand

x 4. Kerala

Q.13 How many sessions of the Lok Sabha are normally held in a year?

Ans X 15
23
X 37
X 42
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Q.14 Which was the wettest place in India in 2018 as per the India Meteorological
Department (IMD)?

Ans x 1. Cherrapuniji

x 2. Mawsynram

x 3. Ooty

o 4. Mahabaleshwar

Q.15 Wind turbines convert energy into mechanical power.
Ans X" 1 gravitational
x 2. chemical

o 3. kinetic
x 4. nuclear

Q.16 In which part of the body is blood produced?
Ans " 1. Lungs

X 2. Brain
x 3. Heart

« 4. Bone Marrow

Q.17 Which theory in economics proposes that countries export what they can most
efficiently and plentifully produce?

Ans X" 1. Cournot Competition
o 2. Heckscher-Ohlin Model
75 3. Input-Output Model

x 4. Solow-Swan Model

Q.18 Who among the following was the last Nawab of Awadh?
Ans  off 1. Wajid Ali Shah

/X 2. Saadat Ali Khan
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/5 3. Amjad Ali Khan

75 4. Muhammad Mukim

Q.19 Which of the following is the largest container port of India?
Ans « 1. Jawaharlal Nehru Port

75 2. Chhatrapati Shivaji Port
X 3. Paradip Port

x 4. Ennore Port

Q.20 Chepu is a unique cultural symbol of
Ans " 1. Bhutan

x 2. China

x 3. Myanmar (Burma)

« 4. Nepal

Q.21 Name the comprehensive pension management system developed by the Department
of Telecom in December 2018.

Ans X" 1. SAMADHAN
/X 2. VIGYAN
o 3. SAMPANN

/X 4. ACHARAN

Q.22 With which sport is the term bleeder associated?
Ans X" 1. Volleyball

x 2. Swimming
< 3. Cricket
« 4. Boxing

Q.23 What was the theme of World AIDS Day 2018?
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Ans X' 1. We Shall Overcome
« 2. Know your Status
x 3. Save Yourself

X 4. Check Yourself

Q.24 In which year was the Battle of Saragarhi fought?
Ans X" 1 1867

of 2. 1897
X 3.1878
X 4.1854

Q.25 The study of insects is called
Ans X 1. Anthropology

« 2. Entomology
X 3. Ornithology
X 4. Geology
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Section : English Comprehension

Q.1 Select the correctly spelt word.
Ans X 1. sweatter

< 2. teribble

X 3. clettering

« 4. scissors

Q.2 Select the most appropriate option to fill in the blank.

| am quite satisfied that | have not been in doing whatever was needful for
building up their character.

Ans X" 1. devoted

X 2. caring

x 3. affectionate

« 4. negligent
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Q.3 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. He would sit at the edge of her mother's bed and stare into her crib.

B. Arvind bumbled down the interminable corridor, suddenly reminded of his daughter
in the days after she was born.

C. As a proportion to the fragment of life his daughter had seen, an hour was a vast
sprawling space.

D. Some days he would imagine the world through her eyes and he would feel in his
heart how long an hour actually was.

Ans " 1 ABCD

/X 2.DACB
o 3.BADC
/< 4.BCDA

Q.4 Select the most appropriate antonym of the given word.

PUBLIC
Ans J 1. private

X 2. resticted

X 3. ready

X 4, common

Q.5 In the sentence identify the segment which contains the grammatical error.

You may left the class when you have completed the test.
Ans J 1. You may left

x 2. completed the test

x 3. when you have

x 4. the class

Q.6 Select the most appropriate synonym of the given word.

HOSTILITY
Ans x 1. friendship

x 2. goodwill
X 3. sympathy

( 4. enmity
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Q.7 Select the most appropriate meaning of the underlined idiom in the given sentence.

Let us have all the regulations in black and white.

Ans x 1. printed in coloured ink
« 2. in writing
x 3. painted in colour

x 4. written on the black- board

Q.8 Select the most appropriate synonym of the given word.

INSULT
Ans x 1. apply

x 2. remove
“ 3. offend
x 4. offer

Q.9 Select the correctly spelt word.
Ans x 1. mantion

« 2. mention
x 3. mension
x 4. mentoin

Q.10 Select the most appropriate antonym of the given word.

PROGRESSIVE
Ans X" 1. aristocratic

“ 2. conservative

x 3. moving

x 4. repeated

Q.11 Select the most appropriate option to substitute the underlined segment in the given
sentence.
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Ans

If no substitution is required, select No improvement.

The female ostrich guards the nest at night and the male guard it in the day.

«. 1. guards it during the day.
X 2. No improvement
x 3. guard it during the day.

X 4. guarding it during day.

Q.12 Select the most appropriate option to fill in the blank.

Ans

Today, society is literally poisoning the earth with acid rain.

x 1. growing
x 2. developing
x 3. cosmopolitan

« 4. industrialised

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5)

SubQuestion No : 13

Q.13 Select the most appropriate option to fill in blank No.(1)
Ans B 1 fish
x 2. animal
x 3. snakes
« 4. turtles
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5)
SubQuestion No : 14
Q.14 Select the most appropriate option to fill in blank No.(2)
Ans  of 1 shells
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25 2. wings
X 3. beaks

x 4. feathers

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5)

SubQuestion No : 15

Q.15 Select the most appropriate option to fill in blank No.(3)
Ans { 1. length
x 2. depth
75 3. weight
x 4. growth
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5)
SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank No.(4)
Ans ( 1. beach
#< 2. festival
X 3. sea
x 4. sand
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Marine Conservation Society is hosting the Anjarle Turtle festival 2019, aiming to make more
people aware about Olive Ridley turtles. The sea (1) get their names from their olive-
coloured (2) They grow to about two feet in (3) and reportedly mate at around
1000 kilometers from the Anjarle (4) These turtles come to the beach to lay (5)
SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank No.(5)
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Ans ( 1. eggs
X 2. pebbles
/X 3.shells

X 4. young ones

Q.18 Select the correct passive form of the given sentence.

They will put away their woollens after the festival of Holi.

Ans J 1. Their woollens will be put away after the festival of Holi.
x 2. Their woollens are being put away after the festival of Holi.
x 3. Their woollens are put away after the festival of Holi.

x 4. Their woollens have been put away after the festival of Holi.

Q.19 In the sentence identify the segment which contains the grammatical error.

Although there are more than a hundred known elements, they rarely occur at a pure
state.

Ans X" 1. Although there are
X 2. they rarely occur
J 3. at a pure state

X 4. more than a hundred

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence.

If no substitution is required, select No improvement.

How long you are living_in this city?
Ans x 1. are you live

x 2. are you been living
x 3. No improvement

( 4. have you lived

Q.21 Select the word which means the same as the group of words given.

liable to break easily
Ans x 1. soft
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W 2. brittle
x 3. bent
/X 4. thin

Q.22 Select the most appropriate meaning of the underlined idiom in the given sentence.

The invigilator did not know that the two boys were exchanging notes under his nose.
Ans x 1. rolled into small pellets

o 2. right in front of him
X 3. wrapped in handkerchiefs

x 4. written in small letters

Q.23 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. It is a popular tourist spot for watching the sunset and sunrise over the ocean.
B. Kanyakumari is a coastal town in the State of Tamil Nadu on India's southern tip.
C. It is also a noted pilgrimage site, thanks to its Bagvathi Amman Temple and Our
Lady of Ransom Church, a centre of Indian Catholicism.

D. Jutting out into the Laccadive sea, the town was known as Cape Comorin during
the British rule.

Ans " 1. BCDA

/< 2.DCAB
o 3.BDAC
75 4.ACDB

Q.24 Select the word which means the same as the group of words given.

impossible to satisfy
Ans X" 1_satisfactory

J 2. insatiable

x 3. satisfiable
X 4. contented

Q.25 Select the correct active form of the given sentence.

Rudra was laughed at by all his friends when he wore his socks inside- out.

Ans J 1. All his friends laughed at Rudra when he wore his socks inside-out.
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x 2. All his friends will be laughing at Rudra for wearing his socks inside-out.
x 3. If Rudra wears his socks inside-out all his friends will laugh at him.

x 4. When Rudra wore his socks inside-out all his friends were laughing at him.
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CGLE- Combined Graduate Level Tier-l, 2018 Examination

Section : General Intelligence and Reasoning

Q1 Select the term that will come next in the following series.

114, 127, 153, 192, 244, ?
Ans o 1. 300

X 2 284

< 3 361

<4344

Q.2 o Dspgiene i LARIRALL fr o s 1202500208, ilen B oedll %70 51 VUL B celed i fhe sams

b s’

Ans X 1. 1925192051383
< 2. 1925192051493
/< 3. 1825182051393
v 4 1925192051393

Q3 Select the missing number from the given options.

125 343 216

.|
AowoN
— e o b
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Q4 Arrange the following words in a logical and meaningful order.
1. Wrist
Nails
Shoulder
Elbow
Palm
Fingers
Ans B 1..3,5: 1.4, 6,2
X 23,1,425,6
X33,4,1,2,56

v+ 3,4,1,56,2

SRR i

Q.5 1 ncode anpuage, VACHACAL fsnrimen 20 BUALLACL Lo will DL LANCL be written o thar languazs
Ans X' 1. TSIDECAN

< 2. ISTSNAEF

v 3 TSIDECNA

X 4. STIDECNA

Q.6 Hcdind b wecacipain i el e ke wman b ane velalial o s siamn oay zo Hlae s wnabe i il wendgain
LAy (Fidm
Ans 3 1. Bright : Sunlight
+ 2. Shy : Timid
X 3. Cute : Child
7< 4. Perfect : Unique

Q.7  Lhreeofrhe fallomusy fonrwands are aldes iz oa cenain w2z and anz is differser. Pick the add ware cor,
Ans X 1. Indigo

/< 2. Orange

v 3 Silver



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


< 4 Violet

Q8 gelect the figure in which the given figure is embedded.
(Rotation is not allowed)

Ans

Bdsi

Q9 How many triangles are there in the following figure?

Ans X1. 97
v 2 18
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<316
< 4 20

Q.10 b the quiican thal B ek el Trinl owbeer ie il senee weas aa e sssaninaniz b adusl e e o nanta,
R Lt L

Ans X 1. 225
<2 245
X 3. 250
W 4 240

Q.11 e of the eddomisg S Letter clueners are aiike wr a cectaln vy aud one s ddfferant. Pk the cdd ons oul.

Ans X1 UYCGK
v 2. RVZDG
X 3. AEIMQ

< 4 DHLPT

Q12 gelect the figure that will come next in the following figure series.

QIOIGIO

-

O

Ans

SICID
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X 4

Q13 ‘Hean” 15 related to "Clrowlation” m the same way a3 ‘Bideey” |5 relared fo ' 7
Ans 1. Energy Production

« 2. Excretion

/< 3. Reproduction

/< 4. Respiration

Q.14 Which two signs sheuld be interchanged to maks the following cquation correes®

S=in—d= ld+2 =58
Ans X 1. x and +

#< 2 =+and x

3 +and—

/4 +and-

Q.15  [wndscrmibea viven ke by lese anselasines G 0, D aed 1L Seqmeny i stalomzis b b e
wran L2 ey meenn T0 e 2 vananse widl oty loonm dacis, Cecade mhich of Hie cocclusons womeally sollams

foan (e Sluleieibe

Sl
All wmazagls ams epenne,
All b2inls ane spoei

Comeluslos:
~avapuradl i4n kel
15 o iisns s aps Dol
n B agrnn i 4 el

Ans 1. Only conclusion III follows
#< 2. Conclusions I and III follow

+ 3 Either conclusion I or II follows

/< 4. Only conclusions I follows
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Q16 Select the missing number from the given options.

36 52 86

28 40 12

32 46 2
Ans x1_ 53

v 2 49
<343
X 4 51

Q17 e nf he fedomezg S numbes paies ars aliks oo ceain way aed one o e 2ikohs ood pas ol
Ans K1 4:27

X2 16:125

K39:64

W4 49:218

Q.18 ot be Warnn aliana quni slezen hone, Hhes bbargals caqreisons slndents’, the sinswemaae-ts liphene lekbe o sl G
- - | - E
pmibnlaieral paprasane cpevbeares’ Uhe marmhars geen i oae dare s menser of paresas of thal precenlar
LaneR A,

Huee snanes aibes e ane lizhe i ledvkess S 50T gk !

Ans X1- 30
V238
< 3 40
<411

Q.19
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Ans

‘A + B’ means ‘A is the sister of B’

‘A — B’ means ‘A is the daughter of B’
‘A % B’ means ‘A is the brother of B’
‘A + B’ means *A is the husband of B*

fV+U=*Q-T+R+P x 8§, then how is P related to V?
#< 1. Maternal aunt
/< 2. Paternal uncle
#< 3. Paternal aunt
« 4 Maternal uncle

Q20 Select the term that will come next in the following series.

ME,RHS,?2V,N

Ans x1_ M
V2 K
X3 U
X4
Q.21

Ans

Select the term that will come next in the following series.

DGIJ, BDN, ZAR, XXV, 7

v 1 vUz
X2 Uuz
X3 VIZ
X 4 VUY

Q.22 Ealaer thae carmees meanr image of tie given fige when the musmar is placed to rhe mgi of the fgure

Ans
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Q.23 Tlieo STl predtinge AT thee s denen Tazco Whieb o e cnnhe oo nggeeile flae S dinene 207

- . e

__ E.'.\.:' P
Lo Ty R
o 3 [.1 | 1 [ 5 4

Ans «1_

i)

X
: w
oy =

Q.24 The s ol B Agizc il Shizeeanl Waiing i G opaies & Do sz, Shipe s apes aill b 1= opoms mons o
Boalbsls ags, Whak 15 Malind’s corce age?

Ans " 1. 15 years
/< 2. 20 years
W 3. 25 years
7< 4. 30 years

Q.25 dHirou bl fan el fad ol papee sl b eae haees o i Hiss cacdhlile ©aepin sless ek wdion
CRTRETEH T TS HEH I

_|_

.'H._

o o

=
T

Ans -J—r
X1 $
2,

e P
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Section : Quantitative Aptitude

@1 Thevalueof 152+ 5.8+2.9x 2—3.5X 2+ 0.5 is equal to:

Ans X1. 4.8
K254
<332
52

92 The value of sin?32° + sin?58° — sin30° + sec’60° is equal to:

Ans ?{'1. 35
X2 4
vi4s
<435
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Q3 If cosec28 = sec(30— 15°), then 6 is equal to:
Ans X 1. 250

<2 220

< 3 200

v 210

Q.4 (e cfferapes Tervess o oo URAnet A0S SimEd e woenest W Sy a0 L090 par o 2o 2 veass 13 T Wken e the

waloz el a®
Ans X 1. 450
7 2. 500
< 3600
v 4 400
Q.5  muescle witlvessrdie o8, e anz S smlvenlb e el ol PEF sl Hee oo ol sinshe, Teedned &7 poshisl &
1colr B Thean < Ch# £ aqut b
Ans « 1. 550

X 2. 70°
X 3. 60°
X 4. 65°

Q.6 Anatiche i ead Toc T alier erccansye cpecooms of 25 azd v5 5 12 the merked prce cEile atizie s T80 what =
ke vl oEsT

Ans X115
v 2 20
<318
<4 16

Q.7 I EAEr T poind i B sigds Sal T 30 <0 DL TG 5 0 sk oo af DE Croan cin A4 B0 . il 280 2 comal b,

Ans X1 2:13
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M2 2:11
V3 2:15
K< 43:13

[

]

Q.8 Tnesindealiling 17 ine aslasnl s st alidinze o7& o T e vl oG siale, Wlen o G langalls olthes chusak?

Ans X' 1. 25cm
2 30cm
< 3 20cm
< 4 15cm

Q.9 Tle: Tkl aburerd Ui inmizen ul e sk b il b neensend v 4 g el aelsin raid

SELD ORI L) WA TR NEA

I the 2ol e 2e oF Gacs sk b 2l thee s siomemoous over the vaars |5 mepoasemied ao 3 pob chal, i i L cecimal

avgls oty siste copusiting e el o b ol o sl B e pze 2005 Gl iec e whabe s
Ans x 1. §8°
v 2 60°
< 3 56°
K 4 620

Q.10 It pclizles 2re sold foc T2 sach Crois, the celer 2ains X065 and oo woe otber b booss 2085 Wkt i his aver—
g i hee penreslens reanss e o thezinl it

Ans  of 1. 5.7% loss
X 2. 6.0% gain
/< 3. 5.7% gain
< 4 6.0% loss

Q.1
Ifﬁ+;—; =6, then x2 +$ is equal to:
Ans “1_ 14
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N 216
X3 18
X412

Q.12 | b s e comber ol sz acfd b thnes sssrasms oveer a meiid o s vears

welil i e mooier ol cpes sl By stawrneam A o e oves fi wemes fnescesd b one desnomy please v

Ans  of 1. 566.7
X2 5927
X 3. 504.7
X 4. 586.7

Q.13 it and e AR oA e T T AaH s e B e A s e e S sl e

Ans X' 1. 6cm
A2 9cm
V'3 12cm
K4 18cm

Q.14 Firee tubwes each ol vl 5 o s oot peliooamel dhel i e Bval ol g ol il I1NI||iIIL-I'|JHI.I"|_iI|-.'III'z'
Ans X 1. 280

V2 198

<3 270

<4 244

Q.15 Tl i ool saimpe i ravcesd by 7% & porein sande ki i wapmanbioeg by % cnis He apumainedaly wid
e shinhilhe vt hicansaenpiney

Ans  X'1.10.7
X 2 109
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W3 103
<499

Q.16 Tle: Tedike slecer s the snlees ol v aedil i Hessw sl g o praiaad o ein vioea

Koy wakar pecmane dod ©1e il parmhar o s mood Byall (bree shesrorens dacreaes cunng e vesr 20EA as oorpared m
Lk L thes spmar 2005 Cpve s no i desiomal plae”

Ans X' 1. 14.8%
< 2 14.4%
K 3 14.9%
v 4 14.6%

Q17 If(Sa—3b):(4a—2b)=2:3, thena: b is equal to:

Ans  of 1. 5:7
<25:8
K32:3
Xa3:4

Q.18 What iz the vale of x 3o that the seven digis mumber 8438x53 is divisible by 997
Ans x 1. 9

X 23

<36

v 4

Q.19 Talkeg .ﬂ;’ ot hissual spesd o pecsn reazhas bos obEize 10 wrees saier iz the oozl me, His nzoss os o
i i

AnSREN 1. 27
V2 35
<3 30
X4 42
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sin 8+cos@

Q.20 :
If 2sin® = 5cos6, then is equal to:

sin 8— cos

Ans

-
wi | ra

N

»

X & X

@2 1fa—b=>5 andab = 6, then (a® — b? ) is equal to:
Ans  of 1. 215

X 2 90

X3 225

X 4155

Q22 prg bt e=10 andeb 1 be | ca=32 thepa® | 8 | 0 3abc 15 el 1y
Ans X1, 70

&2 60

< 350

W 4 40

Q.23 104 sl al = s kot BFGa pids Tlee avengz nerks oD whuke class an: 62 L ihe e ulile by
marks B G2 Ahat B everage wacks of the grsd

Ans  of 1. 68
~ 2 67
< 3 66.8
X 4 66.4
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\

Q.24 TheciMzizmeizaed & DAk indhe niin 2301 Sncking cpilecn thoy el s ek = 20 lonea,
teza: mian beves @il Booloce oomzdes 406 ot that tas®
Ans X121
V2 28
<335
<424
Q.25 ize Lahlke shieews e numioes sl s sold by dose slavencans o ver o ol o sis e

Ans

Ikmnes

H
=

Hods

l
=i
02 |

ol

HEE
AT
Ll

Thar iz b varioe o i el eanz el by sleevmam Thibing mie paas 200 sl S sl e woral cn s sl b

sheoey oo O duang 3018 ged 20167
. 85
- 88
- 88
- 86

1 97

97
95
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Section : General Awareness

Q.1 In 2015, aircraft maker Boeing developed a metal called
and stronger than steel.

Ans x 1. Titanium

75 2. Tridium

X 3. Molybdenum

, which is lighter than air

“ 4. Microlattice

Q.2 Who was the first Indian to win the Miss Universe title?

Ans J 1. Sushmita Sen
75 2. Persis Khambatta
X 3. Reita Faria

x 4. Madhu Sapre

Q.3 is a hearing-impaired Indian golfer who won her first professional title at the age
of 18. In March 2019, she became the second Indian woman golfer to win on the
‘Ladies European Tour".

Ans “ 1. Diksha Dagar
75 2. Aditi Ashok
x 3. Gursimar Badwal

x 4. Vani Kapoor

Q.4 The Pradhan Mantri Shram Yogi Mandhan Yojana ensures old age protection for
unorganised workers whose monthly income is less than or equal to

Ans X" 1.% 12,000
75 2.210,000
< 3.220,000

W 4.215,000

Q.5 An adult human body has bones.
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Ans B 1,300

/X< 2.208
o 3.206
75 4.312

Q.6 What was the historical name of the city of Guwahati?
Ans f 1. Pragjyotishpur

75 2. Machilipattnam

x 3. Purushapura

x 4. Bhagyanagara

Q.7 People above the age of years are NOT eligible for the Pradhan Mantri Shram
Yogi Mandhan Yojana.

Ans X 1.50
X 2.45
o 3.40
75 4.60

Q.8 The Ayushman Bharat Scheme introduced by the Government of India provides
medical coverage of upto ¥ per family per year.

Ans " 1 2lakhs

o 2.5 lakhs
/5 3.7 lakhs
75 4. 1lakh

Q.9 As of 2018, India is the leading milk producing country in the world, accounting for
approximately of the global market share.

Ans X" 1.15%
o 2. 19%
X 3.17%
75 4.22%
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Q.10 The Khadi and Village Industries Commission Act was passed in the year
Ans X" 11965

/X 2.1948
75 3.1964
of 4 1956

Q.11 The approximate diameter of the sun is times the diameter of Earth.

Ans  of 1109
75 2,123
X 3.92
75 4146

Q.12 is the hottest planet in the solar system.
Ans x 1. Mars

/X 2. Earth
X 3. Mercury

( 4. Venus

Q.13 was the first Chief Election Commissioner of India.
Ans X" 1.MS Gil

( 2. Sukumar Sen
x 3. T N Seshan
x 4. Sunil Arora

Q.14 Which team won the Ranji Trophy 2018-19?
Ans  of 1 Vidarbha

X 2. Karnataka

x 3. Saurashtra

X 4. Kerala
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Q.15 The Micro, Small and Medium Enterprises Development Act was passed in the year

Ans & 1.2002

W 2. 2006
/X 3.2004
75 4.2008

Q.16 Name the smallest district in India.
Ans X" 1 Guntur

x 2. Alirajpur
75 3. Hailakandi

o 4 Mahe

Q.17 Name the westernmost point of India.
Ans " 1. Bharuch

75 2. Amreli
75 3. Dahod

« 4. Ghuar Mota

Q.18 Name the oldest operating port in India built by the British East India Company.
Ans X" 1. Mumbai Port

x 2. Vishakapatnam Port
x 3. Chennai Port

o 4. Kolkata Port

Q.19 Which of the following is NOT a part of the ‘Char Dham Yatra' in North India?
Ans  off 1 vaishno Devi

x 2. Kedarnath

X 3. Gangotri
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/X 4. Badrinath

Q.20 During the Sao Joao festivities, Goans present to each other.
Ans x 1. beer

x 2. flowers
/5 3. fish
o 4. fuits

Q.21 was named the cleanest city in the 'Swachh Survekshan Survey 2019'.
Ans « 1. Indore

x 2. Mysuru
X 3. Surat
75 4. Ujjain

Q.22 The movement of the local farmers of Bardoli in Gujarat against the British in 1928 was
led by .

Ans X" 1_Lal Bahadur Shashtri
/5 2. Lokmanya Tilak
X 3. Jawaharlal Nehru

of 4. Vallabhbhai Patel

Q.23 Wilson's disease is an inherited disorder in which excessive amounts of
accumulate in the body.

Ans X" 1 sodium
o 2. copper
X 3. calcium
x 4. iron

Q.24 The ‘Instrument of Surrender’ which ended the Portuguese rule in India was signed on
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Ans X 1. 29th December 1951
o 2. 19th December 1961
< 3.15th August 1947
X 4. 26th January 1948

Q.25 The East India Company sent Captain William Hawkins to the court of Emperor
in 1608 to seek permission to open a factory at Surat.

Ans « 1. Jahangir

X 2. Humayun

75 3. Akbar

X 4. Shah Jahan
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Section : English Comprehension

Q.1 Select the word which means the same as the group of words given.

An instrument for measuring the atmospheric pressure
Ans X" 1_thermometer

X 2. altometer
V 3. barometer
x 4. ammeter

m/
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CGLE- Combined Graduate Level Tier-l, 2018 Examination

Section : General Intelligence and Reasoning

Q.1 Thresof rhe follewsime fomr meards are al ke inonocertaie aw and e s differenr. Bk che add ree e
Ans 1. Seismology

« 2. Terminology

/< 3. Cardiology

/< 4. Pedology

Q2 Arrange the following words in a logical and meaningful order.

1. Rajasthan
2. India
3. Jaipur
4. North India
5. Asia

Ans o f1.3.1,4,2,5
X21,3,2,4,5
X 80:04.5
5 41.3,4.25

Q.3 Sl e creehicsdoen el Ldiers thal s e sezpastlislby plomed inthe ease o7 the viom klkesaws w D omphae e

L ml rhebe a4 A
Ans X 1. cdebad
' 2. adabcd
# 3. bdbcba
< 4. acbcad
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Q4 gelect the option that will fill in the blank and complete the given series.

0, 7,26, 63, 124, 215,342, 511, 728,
Ans 1. 006

V2 999

< 31001

# 4. 1000

Q5 Select the term that will come next in the following series.

11, 13, 17, 23, 31, 41, 53, 67, 83, ?
Ans  of 1101

< 2 100

<3 97

<4 110

Q.6 Cheome te Ve diagrane wiich best s rares the rekilowshio ameag tie thees fivea clazies

Frair, Yegetahle. Apple

Ans Q

v 2l
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Q.7  Gcheordue leticrehian b e oebieecd v fes il Tetier=closbon i e sonee wasc b o sovocil leia -2l i cclatzillin

ik pxw Ietier chicjar
Ans X 1. HMPW
v 2. HMRW
< 3. HNRW
< 4 HKRW

Q.8  Twnsarimiba an: pivies, Mlboass b dlesz e lsins b a3, a1 A sazming he stsbenonio B b,
coeain i T weEnm i S oF S WAL dnonnaly Kicwan oot s witich o e ene B logicny ko]
Choait the SRneLIdTlE

Slabarmartnila:
LU EE-NERY | TR

Al e ne inees

Cunrhisioar:

I Sirmis e oz Dsass

0. aries P45 20E @rieds.

OL T mes 05 a graz.
Ans 1. Only conclusion I follows

/< 2. Either conclusion II or III follows

+ 3. Either conclusions II or I, and I follow

75 4. Only conclusion III follows

Q9 gelect the option that will fill in the blank and complete the given series.

2,5.10,17,26,37, . 65,82, 10l
Ans. X154

X2 48

V'3 50

K 4 51
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Q10 1f'7 js coded as 20" and ‘BAT is coded &5 406 then how will 'CRICKET be coded?
Ans 1. 140

X 2 142

v 3 138

X 4. 158

Q11 bt wanb-paie e Bich S b v anc bzl e e vy secotba e coekeinthe el g vandqrain

b o Simdem
Ans 3 1. College : Teacher

/< 2. Hotel : Chef
« 3. Hospital : Patient

#< 4. Court : JTudge

Q12 sslacs the correc: mirrar cnage af the folommsg woud w-h-e;ba-u:.::rnr_is pla;b."lfn the right of the wor.
Ans X HINT

v 2 TUIH

# 3 TNIH

«+ TINH

Q13 Which two signs sheuld be interchanged to make the following equation eorrect?

20=20-20=23= 23 =419
S A +and -

(2. <+ and =

/< 3 xand-—

< 4 +and—
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Q.14 abosohe aulionn el B e ke aetlee b oo in e senes ves g O szl ooz ool s e Do namiba,
Wodoin oA
Ans X 1. 566
V2 625
X 3. 676
X 4. 652

QA5 noaseds lnnmape, FRIEMIT B2 wrimer as SO0 Hemr o | FEACE e mesdten o thar laammaps?

Ans X1 QFBBF

< 2. ODBBF
v 3. QDBBF

X 4 QDBDF

Q.16 Thr=z of rhe frllessine fonir letrers are al ke inon serbaie may and oo 15 diffeenr ek che add coe p

Ans J1_ v
X2U
X3 E
X4l

Q17 Select the figure that will come next in the following figure series.

KKK K K
o[

Ans
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X2

<3

F

X[ K] K

Q.18 Hhinae 1k By foi sannibaespeains s ki o tain vy il s inliffene Pick Gaadd merhereir a
Ans X' 1.225: 15

X2 144: 12

3 123:11

< 4196: 14

Q.19 Iminnhassp K, Wiases sl e i b sk o7 e sono @ ihe wa Bol e bshand™ Saea 0 v ndabal e bt

Ans 1. Aunt
&< 2. Sister
« 3. Mother
/< 4. Daughter

Q20 How many triangles are there in the following figure?

/N

Ans «1_ 15
<209
<310
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7”412

Q.21 dircnbei oo zone avgzeel deol il zillomonil B k! e polbzonsppee sdon e oo slaas is

Iridar o e chatiar s

>

Ans

v

p g3

Q.22 v avess dawm all e menbers frany 1wed, dwen o pae pmes wrald som e wriesn 2T
Ans x |

V2 20

<1l

x4 19
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Q.23 & bk cuboanss pricke s all s bl o 7 sanallsnhess o ecual sive i peery cn®as s praisdin® onoes T

n=le

Ans x1.

X
w
00 e O

Q24 ACCIDENT & celated vo TMEDIOCA o tho same wav a2 PASSENGER & lelated o'
Ans X' 1. REGNSESAP

< 2. RGENESSAP

' 3 REGNESSAP

< 4 REGMESSAP

Q25 Select the figure in which the given figure is embedded.

o

Ans

£
A
xa @L
]
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Q.2 Select the most appropriate option to fill in the blank.

In ancient Greece, women were not allowed to in the Olympic Games.
Ans X" 1 collide

x 2. comply
x 3. cope
J 4. compete

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence.

If no substitution is required, select No improvement.

Scarcely had he gone out than a client came to meet him.
Ans X" 1. No improvement

J 2. had he gone out when
x 3. he had go out when

x 4. he had gone out than

Q.4 Select the most appropriate synonym of the given word.

FUSE (Verb)
Ans x 1. correct

x 2. unused
X 3. break
J 4. combine

Q.5 Select the most appropriate option to fill in the blank.

Colours, they say have the power to calm, pacify and relax; they can energise, activate
and

Ans J 1. envigorate
x 2. interest
X 3. involve
X 4. enrage

m/
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L

Q.6 In the sentence identify the segment which contains the grammatical error.

"l done a lot of work today," she said.
Ans x 1. she said

x 2. work today
/X 3.alotof
J 4. | done

Q.7 Select the most appropriate meaning of the underlined idiom in the given sentence.

"These glasses suit you to a T ," said Ria to Vandana.

Ans ( 1. look very good on your face
x 2. make you look weird
x 3. are not suitable for your work

x 4. need to be worn with a suit

Q.8 Select the correctly spelt word.
Ans x 1. chuse

x 2. chooze
X 3. chooj
J 4. choose

Q.9 Select the correctly spelt word.
Ans X" 1. defnition

x 2. acceptence

J 3. scramble

x 4. jewlry

Q.10 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Once the formalities are done, you can start using your account and save time and
money.

B. Opening a bank account can seem intimidating.
C. Getting your account opened is just a matter of providing certain details and

m/



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


m/
funding your account.
D. Fortunately, most banks follow a standardized process.

Ans & 1. ADBC

75 2.BADC

/< 3.CBDA

o 4.BDCA

Q.11 Select the word which means the same as the group of words given.

The part of a country's government responsible for its legal system
Ans & 1 police
X 2. executive
o 3. judiciary

75 4. legislature

Q.12 Select the most appropriate synonym of the given word.
ATTRIBUTE
Ans X 1 praise
J 2. quality
x 3. speech

x 4. respect

Q.13 Select the correct active form of the given sentence.

Dinesh was looked after by his grandmother when his parents went abroad.

Ans x 1. Dinesh looked after his grandmother when his parents went abroad.
x 2. Dinesh's grandmother looks after him when his parents went abroad.
J 3. Dinesh's grandmother looked after him when his parents went abroad.

x 4. Dinesh's grandmother was looking after him when his parents went abroad.

Q.14 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. A man on a bike had to ride on the pavement.

B. When he tried to plunge onto the road, a car hit him.

C. As the bus inched through the evening life, the traffic grew.
D. There was no space on the road any more.

m/
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Ans " 1. CBAD

/< 2.ADBC
/5 3.DBCA
o 4.coaB

Q.15 Select the correct passive form of the given sentence.

Ananya plucks fresh flowers from the garden every day.

Ans J 1. Fresh flowers are plucked by Ananya from the garden every day.

x 2. Fresh flowers have been plucked by Ananya from the garden every day.
x 3. Fresh garden is plucked by Ananya from the flowers every day.

x 4. Fresh flowers were plucked by Ananya from the garden every day.

Q.16 In the sentence identify the segment which contains the grammatical error.

Entering the hall, the show had started.
Ans X" 1. the hall

x 2. had started

x 3. the show

J 4. Entering

Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence.

If no substitution is required, select No improvement.

An old misunderstanding exists among_the two families , so they are not friendly any
more.

Ans X" 1. No improvement
x 2. will exist among the two families
J 3. exists between the two families

X 4. has exist within the two families

Q.18 Select the most appropriate antonym of the given word.

DEFICIT
Ans x 1. credit
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x 2. remove

x 3. adhere
J 4. surplus

Q.19 Select the most appropriate meaning of the underlined idiom in the given sentence.

The dog played in the pond to his heart's content.
Ans J 1. as much as he wanted to

x 2. till he was completely sick
x 3. avoiding getting too wet

x 4. only upto his legs

Q.20 Select the most appropriate antonym of the given word.

ILLUMINATE
Ans X 1. add

J 2. darken
75X 3. light
X 4. erase

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Dusk sets in at the Varagaliar elephant camp deep within the Anamalai Tiger Reserve (ATR).

It's dinner time for the 25-year-old tusker and he's (1) balls made of steamed ragi flour
mixed (2) some rice, green gram, salt and jaggery. (3) are half-a-dozen Forest
Department (4) around, including V. Ganesan, the Field Director (5) ATR.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank No.(1)

Ans x 1. feeds

W 2. fed
X 3. feeding
x 4. feed

Comprehension:
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In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Dusk sets in at the Varagaliar elephant camp deep within the Anamalai Tiger Reserve (ATR).

It's dinner time for the 25-year-old tusker and he's (1) balls made of steamed ragi flour
mixed (2) some rice, green gram, salt and jaggery. (3) are half-a-dozen Forest
Department (4) around, including V. Ganesan, the Field Director (5) ATR.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank No.(2)
Ans  of 1 with
X 2. of
x 3. from
X 4. by
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Dusk sets in at the Varagaliar elephant camp deep within the Anamalai Tiger Reserve (ATR).
It's dinner time for the 25-year-old tusker and he's (1) balls made of steamed ragi flour
mixed (2) some rice, green gram, salt and jaggery. (3) are half-a-dozen Forest
Department (4) around, including V. Ganesan, the Field Director (5) ATR.
SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank No.(3)
Ans ( 1. There
x 2. Nowhere
X 3. Everywhere
x 4. Here
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Dusk sets in at the Varagaliar elephant camp deep within the Anamalai Tiger Reserve (ATR).
It's dinner time for the 25-year-old tusker and he's (1) balls made of steamed ragi flour
mixed (2) some rice, green gram, salt and jaggery. (3) are half-a-dozen Forest
Department (4) around, including V. Ganesan, the Field Director (5) ATR.
SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank No.(4)
Ans

X 1. person
( 2. officials
x 3. employee

x 4. ministers
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Dusk sets in at the Varagaliar elephant camp deep within the Anamalai Tiger Reserve (ATR).

It's dinner time for the 25-year-old tusker and he's (1) balls made of steamed ragi flour
mixed (2) some rice, green gram, salt and jaggery. (3) are half-a-dozen Forest
Department (4) around, including V. Ganesan, the Field Director (5) ATR.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank No.(5)

Ans

o 1o
x 2.0n
x 3. among

X 4. between
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Section : Quantitative Aptitude

Q.1 W AARD s - S0l nides A apn A 20w poacnced m me o D aad D 2 tke buseciocs o ibe S CELD azd SHUL

neshac b pesine 00 e SRR il lersapeal oo

AI'IS “1 650
K2 40°
K3 55°
X4 750

]
|
I
i
IJ
o | b=k

= {4% —(2% +§)}] is equal to:

Ll Bl -

Q.3 if thue seling proce of S articles i aqual ea the oo poles of S articles. teen the percaimes Loss or g3 5
Ans X 1. 20% loss

m/



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


| m/
< 2. 259 loss

/< 3. 20% gain
W 4 25% gain

Q.4 cbleshoes fle pencipane of marss obaiied b s sydenis s ditfmeds sbiecs in an =samimativy 2l
ez bihes Bkt fle nesionmm neekes ineadi sutseel
Aakpet ‘-!'!'_"-.'.‘“":l{'
™ | ST 4
o e
& " i [ A i a.'l
n w e B e e
I [ w | [
o B e W | )
C O [ 1] R
r w | o ey ]
] ' IE 3 o EE (=3
Whar e the eveaes marss abeained b all e s rodecrs in Plosies? (0amaer i e deoiin plosiss
Ans X1 77.26
v 2 89.14
<3 01.16
X 4 93,14
Q5 prixr—5%+ (x—6)*+ (x— 71 = 3fx— 3)ir— 6) (x— 7, then what is the value of 7
Ans X 1.7
K2 18
V36
X4 5
Q.6 A calw albizprald kgl aned afleed leane s lavs cpcliog R the e picd ax b of & i e s bz e sl
10 benpl Subves coree ch disiaces drom e maciing ponn wa B oakh vp e e i et oot desunal plaast”
Ans

< 1. 23.67 km
&< 2 25.67 km
v 3 26.67 km
< 4 24.67 km
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Q.7 What i e aliffor e Intvazs 4 sdndle Bz of 30y e aaingle Svcoa cyaivahenl o eoaimzaie ooz of
Zatusud M g e Suqyeng aTELIEIR

Ans 1. No difference
x< 2 320
X3 F1s
v 35

Qs .
(e L 571'118113734—% is equal to:
X

.
Ans 1. 130
<2125
< 3 145
v 4 110

Q.9 A eerze Trabper bovcand werks 2o Tl peraday B oearas T per b sl ks e = o ee das b e e
FRRL GO e S aRes 20 A ens BT

Ans  of 1. 63 :40
<2 20:30
<3 .33:20
K 4 40:61

Q.10  alike granee s e aneanld Erxpraafilinr: ol o Panpeey (o kb g e e sz,

[ L

R T | g | B g
T 3 im | e o
WM | & it P i1 Iex
B 75 A T I
x| A e | oAk it =
o [ai] v Joaw [T [

Wher = thes rvesags amcnos of isess oo oo2ns s Dl mpess) whocz e cocipany paks driiog 1oe paracd L 1
k| g

Ans X 1..34.18
v 2 36.66
< 3 32.43
X4 3372
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Q.11 1 the wwizzs of the circuniirels of 2 eqraliveral tizegle is ¥ o coen the weasurs of mding of s ieiezle e
Ans X' 1. 16 cm

X 2 12em
V'3 4cm
X 4 8cm

Q.12 oD e oych: pradnlresal srch 2ok AR 15 the Coznster of the cimes coomssnbing 1 azsd < A0 = 1207 Jken
LR el e

Ans X1 SJD
X 2 49°
K3 61°
v 39°

Q.13 4 wkd PTE e b ba sl wilb ssans 01, Siesa gool Maadzicke e vzl acl & T poinls cnthe il
(RN | PR T WA ) (PR T B
Ans X 1. Sﬁ s

<2 40°
X 3..75¢
v 200

Q14 1§ 3cor A + TsintA = 4, then what is the value of cot A, given that A is an acute angie”

Ans X1-
X 2.

<31
(4.@

|& &il=

15 Ifa®— b® =208 and a— b =4, then (@ + b )% — ab is equal to:
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Ans ( 1. 52

X 2 38
X3 42
X4 32

Q.16 T = sumir ancezora ro T V00 D0 fonr vaars wed T7,800 ot vears ar eanmpoaid et neen the e i
ekl wend s e e anmel e al el i

Ans X1_ 9o
v 2 10%
< 3 8%
X4 11%

Q.17 e, wamenenl & oy badlier e stnrplate A ek in s b, ccaanibezc izl e e b e non bzt
taoy s Lle Hae wack 2 man dosss, LLany cosmy o roe 2loce wi be o o caipoess s wack i d it

Ans X1_ 7
V20
K36
<48

Q.18 when am intzger i s divided by . the semzzzdder is 5, Whan will be che ramaindes of oo Lo divided by 2
Ans (1. 1

x20

<32

<44

Q.19
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Ll whorees e smabes ol bk ving Bz e =i brcebess o Do poblishicog copresy gy 284 2601

L L L

wm—

L

Welual is e femal cles ol boarks T besoches B0 aed B Qoege leer G maell e wamams Lo e ssgnlan

- 340
- 310
- 240
- 650

Q.20 & wplarsulrdus &o=ie ucllazad nacast iecaphines ol malios 2 oneands M nene sach spleas s be necie

Ans

Ko
X 2
< 3
v 3

36
24
25

27

Q21 1f fany = cot(45 °+ 2x), then what is value of x?

Ans J 1. 15 o
K2 45°
<3 20°
. 45°
X2
2
Q.22 sanle choow the semesninze distrbutioe of e sxpaadiiar: incurred oo diffeceet bems for soblezeg nbeck.
ke of saprrdive | Pecerrage of
ek 1)
| Paper k]
Prireing in
R |
| Fawairy 15
Prorsion b1
| Tiaapiuatalun 0
Lapezeonoe o Bavalie 5 less-dsan that en Frinling o
Ans X 1. 15%
X 2. 20%
< 3 10%
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W 4 259%

Q.23 sin%24°+ sin®66°

cost 24+ cos? 66

The value Gf[ + sin?61°+ cos61°sin 29“] is:

Ans X 1.
X2 1
V3 2
X 43

Q.24 The averngs-of 27 muhars b8 2ere. Ot of theny, how: many oy be greater Ban pere, ar e mas®
Ans “ 1. 38

<215

<320

<40

Q.25 7f §5%; of a munber is added 10 75, then the result is the number {tself. The number js;
Ans of 1. 500

<2200

#< 3. 300

< 4100
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